ZL - A by/R—BTE  s=1:6
5000 _.a
UNMBREZEIF H1200—50XW10000  s=1:30 — B 8T 112
(RH15 7 EWENBREREL - RETSIEICEEN GL+0m I2k3D) (W2A%, SW, SENTHE) i (W2A, SW, SNTH)
L—LigEia >y 1) — MLER | PL4.5
HEKE & TR IR (< , <l / - R Y: L50 x 50 X 6
BLBET 5o & | / 7/; ‘ D
— _ _ _ N — _ _ — _ _ S %:& t’i[ ‘J,‘%) 7/ -- -
o — o
| | Josoxeox2s |l 8 L50 % 50 X § o - 8
—r  L=w —— e — % S =
‘ ‘ | / I g ) (B ) el
£H - 5= VM= VN "
% (t=5) % L%
PL6
10005 KABERITE L, FE LS (BARF )
(ﬁ‘ﬁl’ﬁ%ﬂl 9949) ; a
5000(4%4)) 5 5000 (4%43) (R )
BEAME | MEAM
@ @
a — A mhE mh i s
DAYAyya i i i i S “
fEstEE </g\ﬁ>9j;|;>§?) | a~aiil
B 7UE - TAIL =
{EX[En [ egmosﬁ% ] [ [ [ [ I w 0J60x60x2.3
allllE allE allE HIE 3 § § L] ! ¢50.8x2.3 \ ,_i _i___li_% _____
HH g ke :J_-/ ¢508X23 b - - # 560 J o o B
H F 1 L—ILCT75x40x5 . |
H i [ HiTE HiE HE E m .l (Foh—1h) T TTEETT
[ I I I [ | —_ -
ey sy | | | sy GL+0m ﬁ r_
TT\&/ N —— “AWH Y T\ IS - g6 ]_:J_[
ELG16/ 72323 [160x 60x2.3 SEEALL Rbys-/| S g mn mn
(=) ERFE G100 (#16T) A7 | : %
5-DI0LLE (1LY
800 800 800 L—IL2L40%x40x 3
" D104 0250 500 1000 h—ohy kFuh—#20h 25 | | 100 | | 25
510 BT M2 (W, SWH) T os0
1000
FEIR{TE $=1:6 ERfEIRF L BRI s=1:6 DAY AyLaE T
[160 x 60 x 2. 3 500 35, 500 () WFEERERT. WEHEE - - - BH5 7 FREDRELES -
o4 s BN M12 3 [160x60x2.3 BN 12 10 [—Jﬁﬁg'ﬂ( £o<m£m$11%
PLA. 5 TERERER25 t HLT
/ [ i, S | (W2, SWED) — — —— kel =
S - f__mol _mn, == s RREH - - - REHELH S
[ Il =< 98kN/m (10t./nf)
1 1 - | a - | B 77\‘777 ‘83 g
----- i . ‘ n ﬁ*%
Laox40x5-150_| i@ ©fFF ) i $4.0 | P 2 O LERRI IR, U
HHE- _ == --J-‘y F(iiﬁﬁﬂﬁ@ﬁ&)o%@iﬂﬁﬁﬁ%@ﬂiﬂ
| (Wa#, SWAT) :J = — — EL, A8, ZLRU—BOHRIL K-+ b
: R i =/ [EARMERDH > ZTDH, L—ILIEFEILDH 1H
100 75 _ 2YLT 5,
_____________________________ // e =50

L—J)LCT75x40x%x5

(Poh—1h)
L—IL5L40%x40% 3

@1000

VA
/ 570

(7 oh—1)

570

241406922

2024. 03




